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123 Diver splashdown
A diver launches off a platform at an angle of 55° above the horizontal and with speed 8.0 m/s.

The platform is 3.0 m above the surface of a pool, (1315p2025)

a) Determine the diver’s speed just before hitting the water.
b) Determine the time taken by the diver to hit the water.
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Clee ular Mohon
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130 Merry-go-round

A merry-go-round is a large flat disk that spins around a vertical axis through its center. A
child is at the edge of a merry-go-round with radius 3.0 m. The merry-go-round spins so that

the child’s acceleration is 1.5g. Determine the period and frequency of orbit for this to occur.
(131F2024)
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